Sp09 Test 1 Work out problem review

Test 1 Topics: Density, Atomic mass, isotopic mass, scientific conversions

1.  
A cube of iron has a mass of 29.31 g. If each side of the cube has dimensions of 1.55 cm, what is the density of iron?

2.  Chemical reactions are often studied at 278.15 K. What is this temperature in Fahrenheit?

3.  
Lithium has two stable isotopes with masses of 6.01512 u and 7.01600 u. The average molar mass of Li is 6.941 u. What is the percent abundance of each isotope?

4.  
The molar mass of silver is 107.9 g/mol. What is the mass of a single silver atom?
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